ER BN TE

— 231 —



— 232 —



%
i
&
o
a

N6 AL X7 T i e A R R TR

A0 6 AEFEXIT HET O % 1 E e RS F T HEIX. RICEDD L ZAITLD,
(EAR T H)

F1R wARETEOREL. wAREHZINEN 626,823 THEEDD,

2 WMABRHTEOREORS R OLER S T oe%T. 1R mARHETE) 10k b,

SeE2H26H £

Pk
B

i FH T

— 233 —



F1E BABHTE
® A

— 234 —

(Hhz - TH)

£ TH & (il

1 #2390 e i R PR OR Rt 460, 765
e Wl i E R R BRR 460, 765

2 MAE 160, 956
—REEHR A 160, 956

3 Ml 3,901
Rk 3,901

4 FEIA 1, 201
FEWEAR VR4 KON} 1

EE A K OSBRI ING 4 1, 100

HEA 100

ik & g 626, 823




i H Cifsr : 1)
K IH & (3

S 2 24, 453
TS P 22, 686

U 2 1,767

% 3 = i = R A SBGOE A A 4 599, 270
% 11 v o 7 (R R LR S 4 599, 270

w4 3, 100
TR 4 K OGR4 3, 100

% o 7 626, 823

— 235 —




(1] AR AR 75 I B
1. G

&

— 236 —

% A (AL - 1)
K Z NI S (LIRS S :- S - S 159 L

1 230 e i R PR OR et 460, 765 421, 200 39, 565

2 A4 160, 956 148, 625 12, 331

3 ke 3,901 3, 898 3

4 FEILA 1, 201 1,201 0

% A a g 626, 823 574, 924 51, 899




3

an

(BN - TH)
e M 5 N R
B EEES AR z O xooe R

o Ty 24, 453 24, 268 185 0 24, 453
% A e i = 5 A dak e 599, 270 547, 556 51,714 460, 765 138, 505
B AET 4
R6 4 3, 100 3, 100 0 0 3, 100
o A 626, 823 574, 924 51, 899 460, 765 166, 058

— 237 —



2. WA

(&) 1 1% i R bkt
() 1 %S ER R

— 238

(HAr @ FH)
i
H K OEJE Al O = % N P B
L FERISI PR Bt 296, 248 270, 530 25, 718| 1 BARESy 296, 248 296, 248
2 SEA BN PR R 164,517 150, 670 13,847 1 BUAEREESY 159, 517 159, 517
2 TR Sy 5,000 5,000
2 460, 765 421, 200 39, 565




@ 2 #AL

(IH) 1 — iR AE (HAr @ FH)
i
H K OEJE Al O = % N P i Ch]
1 FHEMASE 39, 454 39, 698 A 244 1 FHEHAE 39, 454 39, 454
2 PRIR IR 2 ERR A4 121, 502 108, 927 12,575 1 PRIRISRZEMA 121, 502 121, 502
4
5 160, 956 148, 625 12, 331

— 239 —



— 240 —

Gk) 3 e
() 1 s

(B2 - TH)

H A E K Al AR EA

p

1 Ak 3,901

3, 898 3 1 Mulla 3,901 3,901

i 3,901 3, 898 3




Gx) 4 FBILA
(1) 1 BGOSR 4 R Nk

(HAr @ FH)
i
H A E K it 2 A L % N P B ]
1 JEY 4 1 1 o 1 ZEMH4: 1
g 1 1 0

— 241 —



B

Gx) 4 FBILA

— 242

(IH) 2 A K ORI GR 4 TH)
i
iia 3 5
H g FOE o % 4 % 4
1 ERERERER 4 1, 000 1, 000 o 1 ERBRERZESH4 1, 000 1, 000
2 AT INE 4 100 100 o 1 #EHANFEA 100 100
z 1, 100 1, 100




Gx) 4 FBILA

(IH) 3 HEA (Epr © FM)
i
H A E K it 1A % N P B ]
1 HEA 100 100 of 1 HEA 100 100
g 100 100 0

— 243 —



— 244 —

3.
Gx) 1 R
(1) 1 RBEME (BAr : FH)
A CFE OE T OB OB oo WM OR AN R i
A E | o 4 OB = ¥ E | IR , » 7 B
) B MR % L iﬂjjié-‘f o] RER| x4 | o "
1 — sy 22, 686 22, 638 48 0 0 0 22,686 2 fakh 7,314 WERA 7,314
3B FHE 5,125 #KEFY 318
BT 428
HETFY 51
FEFY 264
Hidik T4 240
WSR2 3, 184
WEFY 240
Tl B0 F 24 400
4 HHEE 3,442  TERB T4 2,573
BFMA 4 869
8 HkE 6| EmEicE 6
10 FHE 190| THEESLE 110
IR S A 2 80
11 BBE 2,867 ER{EFR} 2, 867
12 Z5Eht 1,923 H“EIEEE EEBU S 2T AMRSTFERE
B 1,923
13 fEFEL R OV 1,819 &M EERE EERBIL S AT A A
Rk 1,819
g 22, 686 22, 638 48 0 0 0 22, 686




GR) 1 RER

(IH) 2 PN E (HAr - TH)
A g E ¥ E OBE o M O JFH N R i
H A A E | AT R OE IE A 3 K E %) TR . B |
— % B IR 4 & %
AR EXna] & 5 B = o m| WMl K2 & B
1 I 1, 767 1, 630 137 0 0 0 1,767] 10 =M% 510 YHEEME: 60
FlUI A 450
1 BHE 1,257 Wk 1,057
MRS 4okt 200
2 1, 767 1, 630 137 0 0 0 1,767

— 245 —




— 246 —

() 2 B RE ERLEEA W4
(1H) 1 1%t 1 I A i 4 (AL - T
A E E T HE BEH o M K N R i
H A E [ o§r E O A y E ) TR . B |
— B B O N &
AR EXna] & 5 B = o m| WMl K2 & %
1 %M EwE = 599, 270 547, 556 51,714 0 0 460, 765 138, 505| 18 A #H 448 & 599,270 FHEAMEE 15, 002
IS R ] U4 PRGBS 4 584, 268
14
2 599, 270 547, 556 51,714 0 0 460, 765 138, 505




(Bfpr . FH)

EA N OGR4
o B A" R
ita =il iR b/ H
K g FE | g £ T o % 4 & % H
[ IR 3 4 F O
1 PrEBHZE 4 3, 000 3, 000 0 3,000]| 22 (HiE4 3, 000 3, 000
UEIB
100 100 0 100] 22 1&& 4 100 100
OEI5| 8
3,100 3,100 0 3, 100

— 247 —



1. —f%hk
(1) ¥ 5
. N 5. 2, i B
%5 15 — - % 2 &3 .
cpy | REE k| AN ; Gl At e
N (FH) (FH) (1) (1) (TH) (1)
RAEFE 2 7,314 5,125 12, 439 3, 442 15, 881
HIT4E JE 2 8, 155 4, 499 12, 654 3, 476 16, 130
b 0 A 841 626 A 215 A 34 A 249

s |BeRET | e i | o |y | FEOREUE sk« hn o e | PEPIURD | ok s | s | e

\—

WSS U mER

Fr) (F-F) F) (F) i %'J%‘%%%" FWorm | G T(%ji%' Pl i | BN Em | B Em
AT 318 264 51 240 428 3, 184 240 400
AT 78 324 110 245 3, 342 400

/|

Hrig 240 A 60 A 59 A b 428 A 158 240 0




(2) FkER Ok B T4 O HEHEE O BT

X 47 PETRURE (1) MRS R BN GER () B A W%
a8 5B O W 127} B R BT L D1
ey A SAL|FHARITEE S B4y 84 -4 - H5 2R 2. 29%
Z DAt D HEE S A 1, 052| NFRENEEIC K DI
5 il FE SN A O HE IS 1253 BH R E . Bl T4 ORI EIT e
Hﬁaé?%’l 696 il 51877 Rl ?ﬂ@%é RYEITELD =
Z DD By 501 | NS EN I K DB
(3) #EHR O E T4 Ok
7 OB 1 A% okks
X 3 17 B
EEkaEEARE (M) 364, 330
SfeH4 A1 BEEESKRSA%E (M) 428, 482
SEEER ) 40. 20
EERaEEARE (M) 399, 055
SRS5H4 A1 BEEESRSA%E (M) 439, 542
LR ) 44. 00

— 249 —




A PMEAE

ES)

] D i) E

(R O ey

BRI AR
IHJ*)L+

170, 900 166, 600

KPR

202, 400 196, 200

A L 1l 4SE

X o

T Beo Bk

i kB X (N

HEREE (%)

STe644 A 1 AHLE

1 ik 1

50

50

100

SR544 H 1 BHALE

50

50

100

- 250 -



(BRI oD FL ¥ & 7 2 JieHs )

X 5 1k 2 % 3 4 #% 5 & 6 B 7 #%
LM, B [REOmMEI | BEEE, £ (ER RRO |[KRE, BINK (B, TER, BCR S N ON [R] 4
i, EE. B IR eI |[EEETORRE  |RES E. k. Bl | BEORE ¥R EAT O R
it D ik 155 ETHEE, HE. RizHE F. FHROBEE
= Hi
N A = R 2 ik fE
L7 - 7 EO
e (A (A) 2 2
AR LES  (B) (A 2 2
N 2 54 (N 1
45'5 = gA g = 4%7%A<A) 1 2
5 =] /DJIJIji]ﬁ =
e RRERINIR e )
8 Fia (N)
R (B) / (A) (%) 100. 0 100. 0
BEH (A (A) 2 2
AR LB (B) (A 2 2
21 2 i (N)
| memmem AEEO) : :
8 Fia (N)
e (B) / (A) (%) 100. 0 100. 0

— 251 —




- 252 -
A HWIRFH - BT

% N SCta BN 3 kG = Tk |MRE EOBRE, BB OMREIC LD
7 60 i | 12H (Am (A 45) TN
. (1.175) (1.175) (2. 350)
A 2. 250 2. 250 4. 500 gl
[ (1. 150) (1. 150) (2.300)
AT 2. 200 2. 200 4. 400 gl
(1.175) (1.175) (2. 350)
B IDEES
ol 2. 250 2. 250 4. 500 gl
() 1. BN S E

B TEAFIRI K DN SR8 E BB AR 2 1B

% N 204E Nt DFE | 25D | ShAEEN D B R Z Ol D
(A4y) (A4y) (A4y) (A45) N 1

Xk R 24.59 33. 27 47. 71 47.71 M7 L

( ZZ ﬁ;ﬂ % 24. 59 33. 27 47.71 47.71 72 L

¥ HUE T

SR G e X T
X ok o#F S (%) 3.0
TRt E S (N) 2
[E D F5 & HHEIZ 0
HALEZHEE (%)




7 FOMoFY

X g E DO F|E & o BL[F] ERDONE
B B2 F Y [F]
\ " TEE 16, 000942 5%t L 12, 0009
fEm F & IR [E28, 000/ 12 % L27, 000
W o8 T oY [A]

— 253 —



— 254 —



